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Double pedestal




Double pedestal
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Double pedestal data
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Mean : 305.044 + ADC of many channels
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Re-triggering region




Time difference to next event

+ Next event is recorded immediately in Neighbor SCA
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The number of hits in SCA 1

+ To see the feature of these cases(i.e. Green and Blue),
event components in SCA 1 were checked.
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About SCA ()




ADC of hit channel

+ To see correlation between mean of left pedestal and ADC
of hit channel in these cases, these differences are checked

chip 15 : Difference between left pedestal and ADC of hit channel
Black : Total

count

Red : Left pedestal & ABCID > 5
: Right pedestal & ABCID < 5
Green : Left pedestal & ABCID < 5

25

20

= ADC of hit channel .
don’t depend on o
pedestal positions(left .. b e
and right) -10 0 10 20 30 40 50 ADSO

i c—

=T E
|
T 1
I
=

B—HII|IIII|IIII|IIII|IIII|IIII|IIII|III




Number of hits m SCA 0

%+ To see number of hits in SCA 0,
event components are checked

+ Event component
in these case don't
depend on number

of hits

chip 15 : memory cell 0

Black : Total
Red : Left pedestal &ABCID > 5

Blue : Right pedestal &ABCID < 5
Green : Left pedestal &ABCID < 5
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Summary and Feature plan

+ Double pedestal are seen in many region and ADC of all channel appear in
either one side (left or right pedestal)

+ In case that many channels appeared right pedestal, re-triggering or zero
event are caused in the next SCA.

+ In case that many channels appeared left pedestal, the event occurs zero
event about 15%

+ The number of hits and their ADC in SCA 0 don’t depend on pedestal
position

+ In order to clarify the reason of the double pedestal problem,
[ plan to check events in the same wafer, slab, and BCID
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